<?xml version="1.0" encoding="UTF-8" ?>
<Submission xmins:xsi="http://www.w3.0rg/2001/XMLSchema-instance”
xsi:noNamespaceSchemalocation="layout.xsd">
<T619>
<trnmtr_nbr=>mmO00000</trnmtr_nbr>
<sbmt_ref _id>Vos données</sbmt_ref _id>
<trnmtr_tcd>1</trnmtr_tcd>
<summ_cnt>0</summ_cnt>
<TRNMTR_NM>
<I1_nm>Vos données</I1_nm>
<l2_nm>Vos données </I2_nm>
</TRNMTR_NM=>
<TRNMTR_ADDR=>
<addr_l1_txt> Vos données </addr_I1_txt>
<addr_l2_txt> Vos données </addr_I2_txt>
<cty_nm> Vos données </cty_nm>
<cntry_cd=>111</cntry_cd>
<prov_cd=>ON</prov_cd>
<pstl_cd> Vos données </pstl_cd>
</TRNMTR_ADDR=>
<CNTC=>
<cntc_nm=> Vos données </cntc_nm=>
<cntc_area_cd=>000</cntc_area_cd>
<cntc_phn_nbr=000-0000</cntc_phn_nbr>
<cntc_extn_nbr>0</cntc_extn_nbr>
<cntc_email_area> Vos données </cntc_email_area>
</CNTC=>
<rpt_tcd>A</rpt_tcd>
<lang_cd>E</lang_cd>
</T619>
<Return>
<T5008>
<T5008Slip>
<disp_record>
<sin>000000000</sin>
<sbrn_root> Vos données </sbrn_root>
<filr_nbr=AA0000000</filr_nbr>
<rcpnt_pstl_cd> Vos données </rcpnt_pstl_cd>
<DISPN_DT>
<dy>00</dy>
<mo>00</mo>
</DISPN_DT=>
<rcv_scty_tcd> Vos données </rcv_scty_tcd>
<scty_rcv_cnt>0.0000</scty_rcv_cnt>
<rcv_cusip_nbr> Vos données </rcv_cusip_nbr>
<rcv_cusip_cd>1</rcv_cusip_cd>
<id_scty_sttl_txt> Vos données </id_scty_sttl_txt>
<dsps_scty_tcd> Vos données </dsps_scty_tcd>
<dsps_scty_cnt=0.0000</dsps_scty_cnt>
<dsps_cusip_nbr> Vos données </dsps_cusip_nbr>
<dsps_cusip_cd>1</dsps_cusip_cd>
<id_scty_dsps_txt> Vos données </id_scty_dsps_txt>
<fgn_crcy_cd> Str </fgn_crcy_cd>
<T5008_ AMT>
<fval_amt>0</fval_amt>
<cost_bok val amt>0</cost bok_val amt>



<dispn_amt>0</dispn_amt>
</T5008_AMT=>
<rpt_tcd>A</rpt_tcd>

</disp_record>
<disp_record>

<sin>=000000000</sin>
<sbrn_root=000000000</sbrn_root>
<filr_nbr=AA0000000</filr_nbr>
<rcpnt_pstl_cd> Vos données </rcpnt_pstl_cd>
<DISPN_DT>

<dy>00</dy>

<mo>=>00</mo>
</DISPN_DT=>
<rcv_scty_tcd>Str</rcv_scty_tcd>
<scty_rcv_cnt=>0.0000</scty_rcv_cnt>
<rcv_cusip_nbr> Vos données </rcv_cusip_nbr>
<rcv_cusip_cd>1</rcv_cusip_cd>
<id_scty_sttl_txt> Vos données </id_scty_sttl_txt>
<dsps_scty_tcd=>Str</dsps_scty_tcd>
<dsps_scty_cnt=>0.0000</dsps_scty_cnt>
<dsps_cusip_nbr> Vos données </dsps_cusip_nbr>
<dsps_cusip_cd>1</dsps_cusip_cd>

<id_scty_dsps_txt> Vos données </id_scty _dsps_txt>

<fgn_crcy_cd>Str</fgn_crcy_cd>
<T5008_AMT=>
<fval _amt>0</fval_amt>
<cost_bok_val_amt>0</cost_bok_val_amt>
<dispn_amt=>0</dispn_amt>
</T5008_AMT=>
<rpt_tcd>A</rpt_tcd>
</disp_record>
<disp_record>
<sin>000000000</sin>
<sbrn_root=000000000</sbrn_root>
<filr_nbr=AA0000000</filr_nbr>
<rcpnt_pstl_cd> Vos données </rcpnt_pstl_cd>
<DISPN_DT=>
<dy>00</dy>
<mo=>00</mo>
</DISPN_DT=>
<rcv_scty_tcd>Str</rcv_scty_tcd>
<scty_rcv_cnt>0.0000</scty_rcv_cnt>
<rcv_cusip_nbr> Vos données </rcv_cusip_nbr>
<rcv_cusip_cd>1</rcv_cusip_cd>
<id_scty_sttl_txt> Vos données </id_scty_sttl_txt>
<dsps_scty_tcd=>Str</dsps_scty_tcd>
<dsps_scty_cnt>0.0000</dsps_scty_cnt>
<dsps_cusip_nbr> Vos données </dsps_cusip_nbr>
<dsps_cusip_cd>1</dsps_cusip_cd>

<id_scty_dsps_txt> Vos données </id_scty_dsps_txt>

<fgn_crcy_cd>Str</fgn_crcy_cd>
<T5008_AMT=>
<fval_amt>0</fval_amt>
<cost_bok_val_amt>0</cost_bok_val_amt>
<dispn_amt>0</dispn_amt>



</T5008_AMT=>
<rpt_tcd>A</rpt_tcd>
</disp_record>
<disp_record>
<sin>000000000</sin>
<sbrn_root=000000000</sbrn_root>
<filr_nbr=AA0000000</filr_nbr>
<rcpnt_pstl_cd> Vos données </rcpnt_pstl_cd>
<DISPN_DT>
<dy>00</dy>
<mo>00</mo>
</DISPN_DT=>
<rcv_scty_tcd>Str</rcv_scty_tcd>
<scty_rcv_cnt>0.0000</scty_rcv_cnt>
<rcv_cusip_nbr> Vos données </rcv_cusip_nbr>
<rcv_cusip_cd>1</rcv_cusip_cd>
<id_scty_sttl_txt> Vos données </id_scty_sttl_txt>
<dsps_scty_tcd>Str</dsps_scty tcd>
<dsps_scty_cnt=0.0000</dsps_scty_cnt>
<dsps_cusip_nbr> Vos données </dsps_cusip_nbr>
<dsps_cusip_cd>1</dsps_cusip_cd>
<id_scty_dsps_txt> Vos données </id_scty_dsps_txt>
<fgn_crcy_cd>Str</fgn_crcy_cd>
<T5008_ AMT>
<fval_amt>0</fval_amt>
<cost_bok val amt>0</cost bok_val amt>
<dispn_amt>0</dispn_amt>
</T5008_AMT=>
<rpt_tcd>A</rpt_tcd>
</disp_record>
<ident_record>
<RCPNT_NM=>
<snm> Vos données </snm>
<gvn_nm> Vos données </gvn_nm>
<init=A</init>
</RCPNT_NM=>
<SEC_RCPNT_NM=>
<sec_snm> Vos données </sec_shm>
<sec_gvn_nm> Vos données </sec_gvn_nm>
<sec_init>A</sec_init>
</SEC_RCPNT_NM=>
<ENTPRS_NM=>
<I1_nm> Vos données </I1_nm>
<l2_nm> Vos données </I12_nm=>
</ENTPRS_NM=>
<RCPNT_ADDR>
<addr_l1_txt> Vos données </addr_l1_txt>
<addr_|2_txt> Vos données </addr_I2_txt>
<cty_nm> Vos données </cty_nm>
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</prov_cd>
<pstl_cd> Vos données </pstl_cd>
</RCPNT_ADDR>
<sin=000000000</sin>
<sbrn_root>=000000000</sbrn_root>



<filr_nbr=AA0000000</filr_nbr>
<rcpnt_acct_nbr> Vos données </rcpnt_acct_nbr>
<rpt_tcd>A</rpt_tcd>
<rcpnt_tcd>1</rcpnt_tcd>
<dispn_trans_cnt>0</dispn_trans_cnt>
<sttl_amt>0</sttl_amt>
</ident_record>
</T5008Slip>
<T5008Summary=>
<filr_nbr=AAO0000000</filr_nbr>
<TRD_DEALR_NM>
<I1_nm> Vos données </I1_nm>
<I2_nm=> Vos données </I2_nm>
<I3_nm> Vos données </I3_nm>
</TRD_DEALR_NM=>
<TRD_DEALR_ADDR=>
<addr_l1_txt> Vos données </addr_l1_txt>
<addr_|2_txt> Vos données </addr_I2_txt>
<cty_nm> Vos données </cty_nm>
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</prov_cd>
<pstl_cd> Vos données </pstl_cd>
</TRD_DEALR_ADDR=>
<CNTC=>
<cntc_nm> Vos données </cntc_nm>
<cntc_area_cd>000</cntc_area_cd>
<cntc_phn_nbr=000-0000</cntc_phn_nbr>
<cntc_extn_nbr>0</cntc_extn_nbr>
</CNTC=>
<tx_yr=>2000</tx_yr>
<slp_cnt>0</slp_cnt>
<bn>000000000AA0000</bn=>
<tot_sttl_amt>0</tot_sttl_amt>
<rpt_tcd>A</rpt_tcd>
</T5008Summary=>
</T5008>
</Return>
</Submission>



